m B Al B KSR R

(1Y 7E)
o & B HEGR)  HEG% ZE & @ (%) THH
1 X ] &t 377, 880 21.0 1 23,673, 699 21.5 63
2 | J v — 7 226, 230 16.2 2 15, 193, 395 17.7 67
3 ] 148, 280 10.6 6 4,729,725 ) 32
4 ' h — =+ — H 133, 238 9.5 3 6,675, 353 1.8 50
5 Y A E 3 91, 697 6.6 8 4, 456, 709 5.2 49
6 = e 93, 937 3.9/ b 5,875, 254 6.8 109
1 B & & 92,719 3.8 4 6,362, 559 1.4 121
8 7 A 3 — 32, 801 2.3 1 1,103,188 1.3 34
9 AN z & 32,080 2.3 9 1,990, 590 2.3 62
10 3 % & 32,063 2.3 1 4,593, 036 9.3 143
mn 1 b 7 21,739 1.6 17 401, 200 0.5 18
12 Jx=v VR (B) 16, 560 1.2 16 404, 565 0.5 24
13 A — N z 13, 900 1.0 18 157,185 0.2 11
14 L ( 53 ) 9,807 0.7, 10 1,814,243 2.1 185
5 7 3 Y F 35 R 9,260 0.7 14 467,922 0.5 o1
% 2 2 — F — R 8,900 0.6 13 603, 803 0.7 68
17y 7 v (%) 8,400 0.6 15 464, 625 0.5 55
18 | » El H o H 6, 180 0.4 12 855, 015 1.0 138
9% 35 v (%) 3, 645 0.3 19 130, 988 0.2 36
20 > — 2,030 0.1 23 57,435 0.1 28
21 ) 7 924 0.1 24 33, 380 0.0 36
22 | 7 ) 2 — A 689 0.0/ 20 63, 063 0.1 92
23 o5y (%) 670 0.0 22 62, 633 0.1 93
24 /X~ L F 7 370 0.0 21 62, 895 0.1 170
2 J N L T 7 200 0.0 25 1,350 0.0 37
26 | A C & ) & 100 0.0 26 6, 825 0.0 68
21 & b= 10 0.0 27 5, 250 0.0 15
28 R & C #& ) 30 0.0 28 2,730 0.0 91
T2 o it &Y T 52,181 3.7 1 3, 055, 967 3.6 59
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i % B HEG)  HE D & @ (%) FHBE
2 | o Mg Y %K 47, 400 3.4 2 1,413, 342 1.6 30
3 F o MY R 13, 466 1.0 3 1,260, 420 1.5 94
] Y it &t 1,397,506 100.0 85,984,341 100.0 62
(854)

e % B HEGH) HEO T & HE() THE
T N3 C & ) 016 18.1 4 30, 618 1.5 99
2 |3 v (%) 7 272 9.6 1 1,456, 088 72.5] 5,353
3 R T2 (#%) 199 1.0/ 8 15, 540 0.8 18
4 'F o~ v (8% ) 172 6.0/ 3 92, 836 2.6 307
5 Naz=Z7 (&%) 168 5.9 6 29, 400 1.5 175
6 % ( 73 ) 163 0.7 9 30, 503 1.5 187
7 B B ®E ( &%) 66 2.3 9 4, 851 0.2 74
8 AS3AT () 59 2.1 1 20, 895 1.0 354
9 7 F R (8%) 39 1.4 2 82, 688 4.1 2,120
T o i &% WY 1,191 41.9] 1 285, 653 14.2 240
73 Y &t 2,845 100.0 2,009,070 100.0 706

(Z D)
o % B HECK/8/E) KR I & @ E(%) FHEE
1 & ] & 384 44.1) 2 217,216 9.6 11
2 (KR R 8] 116 13.3 1 49, 823 17.5 430
3 3 A (8 ) F 6 0.7 4 1,350 2.6 1,225
4 T ( 87 ) 2 0.2 3 12, 600 4.4 6,300
1 T OB EEY 363 .7 1 187, 320 65.9 516
z D fit &t 871 100.0 284,309 100.0 326
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